Present tense (verbs irregular in
the yo-form)
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YO VER

TU VER

YO TRAER

YO DECIR

YO TENER

TU SALIR

TU PONER

YO CRECER

TU HACER

TU SEGUIR
USTED TRAER
TU CONOCER
USTEDES DAR
YO CONDUCIR
VOSOTROS VER
USTED SEGUIR
USTEDES SALIR
USTEDES TENER

OxTmMmNOOOP>»PZ00MmMm>»O0C>» —un0OO0O

nw-—_mw@>»n ovoOoZmMm—unun>x>»rrmmoOao >

OnmwPPIEIMIO0ONZ0OPrPPIMOBZAH—OW0

mw — OO0 0ONCUOZ00OC-—0OmMmaxomwoOr

ZnzZzmCcoO-—-—u0—-—2» 0 00mMmCOoOn>r»mc<
m —m—=2X0>mMm—-—0mZ2>»20002>mZ2c<l
—MZ W« X ODrrOoOxdmMm-—2mMmZ2m-——m
4 < mMmMe>nn>»>0-A400mUoVoomc®—0m
Z TO0O0WITNHNNNO<XK<KMLKZIMILKI-—-DNZ

YO DAR

TU DAR

YO SALIR

YO VENIR
USTED VER

TU TRAER

TU VENIR

TU DECIR

TU CRECER
USTED PONER
USTED VENIR
USTED DECIR
USTED SALIR
USTEDES CAER
NOSOTROS VER
USTED CRECER
USTEDES DECIR
VOSOTROS CAER
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YO CAER

YO HACER

TU CAER

YO SABER

YO SEGUIR
USTED DAR

TU SABER

TU TENER
USTED CAER
USTEDES VER
USTED HACER
USTED TENER
USTED SABER
YO CONSEGUIR
VOSOTROS DAR
NOSOTROS DAR
USTEDES SABER
USTED CONOCER
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USTEDES HACER



USTEDES VENIR



USTED TRADUCIR
NOSOTROS TRAER
NOSOTROS DECIR
VOSOTROS TENER
NOSOTROS SEGUIR
VOSOTROS CONDUCIR

USTEDES CRECER
VOSOTROS TRAER
USTEDES SEGUIR
VOSOTROS VENIR
VOSOTROS SEGUIR
VOSOTROS TRADUCIR

USTEDES PONER
NOSOTROS TENER
NOSOTROS SABER
VOSOTROS PONER
VOSOTROS SABER
USTEDES CONOCER



Solution
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